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Maintods Vector Norn and Matrix Norns

Defy : XEIR
"

,
a vector norm.

11×11 satisfies

① 11×1/20 and 11×11=0 iff X
-0

② Ha X11 = 12111×11
for the IR

③ llxtyll I ilxlltllyll ye IR
"

y
Triangle Inequality



somecommonnlorms-XEIRnp-norj.MX/lp=(.Izlx;lP)P taps

n x - Exa 11×11, -f÷ixilD'
"I 4×117%1×199,13

p : I - norm 11×11=77
,

Hit

E "
11×112=(771%5)

"
!Ex

Euclidean Norm

P: a- nom llxlb-im.HN/Xil



EI ! X = [ I 233T

11×11, = Max { 111 ,
121
, 1313 = 3

11×111 = l l l t 121 t 131
= 6

11×112=(111414713/2)
"'
= My



an ÷:÷::::: ÷::
Fact : ALL norms

on 112
"

are

EQUIVALENT in the
sense

that if a segene { X'
"3,9=0 converses to X

in one norm , i ie . figs 11 x- XMM
=0
,
then

¥3111 x- 1=0. (math 5451



Matrixrms
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